
Q1) Answer any Three of the following : [3 × 5 = 15]

a) Write a note on syntax as a branch of linguistics.

b) Write a note on tag questions.

c) Write a note on structural classification of sentence.

d) Write a note on verb phrase. Give suitable examples.

e) Describe the types of clauses with suitable examples.

Q2) Answer any Three of the following : [3 × 5 = 15]

a) Write a note on functional classification of sentence.

b) Explain the term noun phrase with suitable examples.

c) Write a note on semantics as a branch of linguistics.

d) Write a note on subject verb concord.

e) What is polysemy? Give suitable examples.
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Q3) Answer any Four of the following : [4 × 5 = 20]

a) Write a note on the types of meaning.

b) What is metonymy? Give suitable examples.

c) State the difference between denotative and connotative meaning.

d) Differentiate between homonymy and homography.

e) Write a note on super ordination in semantics.

f) Write a note on synonymy and antonymy with suitable examples.

Q4) Answer any Four of the following : [4 × 5 = 20]

a) What is pragmatics? Explain in brief.

b) Write a note on direct and indirect speech act with suitable examples.

c) Write a note on J.L. Austin's taxonomy.

d) Explain searle's classification of illocutionary acts.

e) Write a brief note on cooperative principle.

f) Explain politeness principle with suitable examples.
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